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Arithmetic of Integer Exponents

(−5) + 4 =2 (−10) + (−10) =3

5 − 2 = 2 − 4 =3

(−5) − 1 =0 10 + (−9) =0

9 − (−1) =3 7 − 6 =0

7 + (−6) =3 2 + (−9) =

(−8) + (−5) = 6 − 9 =2

(−10) − 1 =3 (−5) − (−1) =2

6 − (−7) =3 8 + 6 =2

(−5) − (−1) =2 (−6) − (−10) =2

7 − 2 =2 4 − (−10) =3
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Arithmetic of Integer Exponents

(−5) + 4 = 292 (−10) + (−10) = (−1010)3

5 − 2 = 3 2 − 4 = 43

(−5) − 1 = 00 10 + (−9) = (−8)0

9 − (−1) = 7303 7 − 6 = (−5)0

7 + (−6) = 3373 2 + (−9) = (−7)

(−8) + (−5) = (−13) 6 − 9 = 272

(−10) − 1 = (−1001)3 (−5) − (−1) = 262

6 − (−7) = 2233 8 + 6 = 702

(−5) − (−1) = 262 (−6) − (−10) = 462

7 − 2 = 472 4 − (−10) = 743
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